Quizizz NAME :

CLASS:
Quadratic Equations .
20 Questions el
1. v —11r+ 19=-5 Solve the equation by factoring.
X =1{3,8} X =4=3.-8)
x ={-3,8} x ={3,-8}
2. ) Solve the equation by factoring.
Tr° = 14r=-7
x={1} x ={-1}
no solution x={}
3. 7 Solve the equation by factoring.
n +8n=-—15
X ={5,-3} X =1{53}
X ={-53} % =1{-5;:3)

4. How many solutions can a quadratic have?

2 solutions 1 solution

3 solutions 0 solutions
5. Whatcan the roots to a quadratic equation be called?

none of the choices solutions

Zeros X-interce pts

6.  Whatis the quadratic formula?

N

y=a(x-h) +A v=mx+b
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